
�Dуд=ое <олоко — 8де4лL=4O п8I4 длO <4лKH4 пеD6о7о 7од4 687=8. �елк8, 68DK, <8=еD4лL=Kе 
6еIеEт64 8 68т4<8=K уE64864NтEO луGHе 6Eе7о пD8 коD<ле=88 7Dуд=K< <олоко<. 

Э=еD7ет8GеEк4O Fе==оEтL (к4лоD89=оEтL) 7Dуд=о7о <олок4 пол=оEтLN удо6лет6оDOет потDе5=оEтL 
=о6оDо6де==о7о 6 M=еD788. �Dуд=ое <олоко EодеD68т DеD<е=тK, 7оD<о=K 8 дDу78е, 
58оло78GеEк8 4кт86=Kе 6еIеEт64, котоDKе 8EклNG8телL=о 646=K длO DоEт4 8 D4768т8O <л4де=F4. 

�Dуд=ое <олоко EодеD68т у=8к4лL=K9 EоEт46 8<<у==KE D4ктоDо6 (EекDетоD=K9 
8<<у=о7ло5ул8=, �, л4ктоDеDD8=, л87оF8<). 

�Dуд=ое 6Eк4D<л864=8е DоD<8Dует пD468лL=K9 пD8куE пD8 оE64те EоEк4, E=864ет G4Eтоту 
Eто<4толо78GеEк8E пDо5ле< 6 D4==е< детEко< 6о7D4Eте, у<е=LH4ет G4Eтоту к4D8еE4. 

' дете9 6 поEледуNIе< Dе6е D476864NтEO о68Dе=8е, E4E4D=K9 д845ет, 4теDоEклеDо7, 
78пеDто=8O. 

�е<4ло646=о, Gто 6Eк4D<л864=8е 7Dуд=K< <олоко< о5еEпеG864ет теE=K9 M<оF8о=4лL=K9 
8 пE8Eоло78GеEк89 ко=т4кт <4лKH4 E <4<о9. 
�, =4ко=еF, 7Dуд=ое <олоко =е =4до 7ото68тL — о=о 6Eе7д4 7ото6о к употDе5ле=8N, опт8<4лL=о9 
те<пеD4туDK, EтеD8лL=о. 

�EтL пDе8<уIеEт64 у 7Dуд=о7о 6Eк4D<л864=8O 8 длO оD74=87<4 
<4<K 

1. �Dуд=ое 6Eк4D<л864=8е уEкоDOет пDоFеEE MDDект86=о7о 
EокD4Iе=8O <4тк8. 

2. �о76олOет 5KEтDее 6еD=утLEO к <4EEе тел4, котоD4O 5Kл4 
до 5еDе<е==оEт8. 

3. '<е=LH4ет D8Eк D4768т8O D4к4 O8G=8к4 8 <олоG=о9 
6еле7K. 

4. �DедоED4=Oет от =о6о9 5еDе<е==оEт8. 

5. �4ет <4теD8 оIуIе=8е дуEо6=о7о покоO. 

6. �Dуд=ое 6Eк4D<л864=8е Mко=о<8т Eе<е9=K9 5Nд6ет. 

Л4кт4F8O — Mто пDоFеEE о5D47о64=8O, =4копле=8O 8 пеD8од8GеEко7о 6K6еде=8O <олок4 
у Gело6ек4 8 <лекоп8т4NI8E 686от=KE. !екDет8Dо64тL <о6ет толLко <олоG=4O 6еле74, 
пDоHедH4O 74 6Dе<O 5еDе<е==оEт8 опDеделе==Kе Eт4д88 D4768т8O. �KD45отке 7Dуд=о7о <олок4 
EпоEо5Eт6ует 7оD<о= пDол4кт8=, 4 оттоку <олок4 — окE8тоF8=. 

�еD6Kе 2 — 3 д=O поEле Dодо6 6KD454тK64етEO <оло786о. �Dуд=ое <олоко поO6лOетEO =4 3 — 4 

де=L поEле 

Dодо6. ! к46дK< поEледуNI8< д=е< кол8GеEт6о <олок4 у6ел8G864етEO. �D8 доEт4тоG=о9 
л4кт4F88 6KделOетEO около 800 — 1000 <л <олок4 6 Eутк8. 

 47<еD 8 DоD<4 <олоG=о9 6еле7K, кол8GеEт6о EJеде==о9 п8I8 8 6Kп8то9 68дкоEт8 
=4 6KD45отку 7Dуд=о7о <олок4 �� 6л8ONт. Л4кт4F8о==K9 кD87 — пеD8од8GеEкое D878оло78GеEкое 
у<е=LHе=8е 6KD45отк8 7Dуд=о7о <олок4 у коD<OIе9 6е=I8=K (1 D47 6 <еEOF/к64Dт4л). 

'6ел8Gе=8N л4кт4F88 EпоEо5Eт6уNт: 

1. Ч4EтKе пD8кл4дK64=8O к 7Dуд8 (1 D47 6 G4E-полтоD4, 6 отделL=KE EлуG4OE еIе G4Iе). 



2. �EклNG8телL=о 7Dуд=ое 6Eк4D<л864=8е (отEутEт68е пуEтKHек, доп4864=8O). 

3. КоD<ле=8е =оGLN. 

4. �D468лL=ое пD8кл4дK64=8е к 7Dуд8. 

5. Ле7к89 <4EE46 7Dуд8 под теплK< дуHе<. 

6. Ко=т4кт <4<K 8 Dе5е=к4 (=оHе=8е <4лKH4 6 Eл8=7е). 

7.  4EEл45ле=8е, отдKE. 

8. Л4кто7е==Kе EDедEт64 74 30 <8=ут до коD<ле=8O (тD46O=Kе =4Eто8 — 4=8E, Dе=EелL, 
кD4п864, 7о<еоп4т8GеEк8е пDеп4D4тK, л4кто7е==Kе G48 6 4птеке, G49 E <олоко<) — о=8 
D45от4Nт толLко 6 ко<плекEе E пD468лL=о9 оD74=874F8е9 7Dуд=о7о 6Eк4D<л864=8O. 

ОE=о6=Kе пD468л4 уEпеH=о7о 7Dуд=о7о 6Eк4D<л864=8O 

(Dеко<е=д4F88 �Eе<8D=о9 ОD74=874F88 �дD46ооED4=е=8O) 

1. �ел4=8е E4<о9 6е=I8=K коD<8тL E6ое7о Dе5е=к4 7DудLN (7DудL к л4кт4F88 6о 6Dе<O 
5еDе<е==оEт8 �� 7ото68тEO). 

2.  4==ее пD8кл4дK64=8е к 7Dуд8 6 теGе=8е пеD6о7о G4E4 поEле Dо6де=8O. 

3. �EклNGе=8е коD<ле=8O =о6оDо6де==о7о 87 5утKлк8 8л8 дDу78< EпоEо5о< до то7о, к4к 
<4тL пD8ло68т е7о к 7Dуд8, Gто5K у Dе5е=к4 =е EDоD<8Dо64л4EL уEт4=о6к4 =4 лN5ое 8=ое 
коD<ле=8е, кDо<е 7Dуд=о7о. 

4. !о6<еEт=ое EодеD64=8е <4теD8 8 Dе5е=к4 6 од=о9 п4л4те. 

5. �D468лL=ое поло6е=8е Dе5е=к4 у 7Dуд8, котоDое по76олOет <4теD8 875е64тL <=о78E 
пDо5ле< 8 оEло6=е=89 E 7DудLN. 

6. КоD<ле=8е по тDе5о64=8N Dе5е=к4. 

7. �Dодол68телL=оEтL коD<ле=8O Dе7ул8Dует Dе5е=ок: =е Eледует отDK64тL Dе5е=к4 от 7Dуд8 
D4=LHе, Gе< о= E4< отпуEт8т EоEок. 

8. �оG=Kе коD<ле=8O Dе5е=к4 о5еEпеG864Nт уEто9G86уN л4кт4F8N 8 пDедоED4=Oт 6е=I8=у 
от EледуNIе9 5еDе<е==оEт8 до 6 <еEOFе6 6 96% EлуG4е6. 

9. ОтEутEт68е доп4864=8O 8 66еде=8O лN5KE 8=оDод=KE 68дкоEте9 8 пDодукто6. �Eл8 
Dе5е=ок EоGет п8тL, е7о Eледует G4Iе пD8кл4дK64тL к 7Dуд8. 

10. �ол=K9 отк47 от EоEок, пуEтKHек 8 5утKлоG=о7о коD<ле=8O. 

11. �е Eледует пеDекл4дK64тL Dе5е=к4 ко 6тоDо9 7Dуд8 D4=LHе, Gе< о= 6KEоEет пеD6уN 7DудL. 

12. �EклNGе=8е <KтLO EоEко6 пеDед коD<ле=8е< 8 поEле =е7о. 

13. Отк47 от G4EтKE 8 ко=тDолL=KE 676еH864=89 Dе5е=к4, пDо6од8<KE G4Iе 1 D474 6 =еделN. 

14. �EклNGе=8е EFе6864=8O <олок4 (толLко пD8 =ео5Eод8<оEт8). 

15. �о 6 <еEOFе6 Dе5е=ок =4Eод8тEO =4 8EклNG8телL=о 7Dуд=о< 6Eк4D<л864=88. 

16. �6еде=88 пD8коD<о6 E 6 <еEOFе6. 

17. �оддеD6к4 <4теDе9, коD<86H8E E6о8E дете9 7DудLN до 1 — 2 лет. 



18. !оED4=8тL 7Dуд=ое 6Eк4D<л864=8е до 8Eпол=е=8O Dе5е=ку 1,5–2 лет. 

19. �Eл8 Dе5е=ок =е доед4ет — <4ло <оGе8EпуEк4=89 8 потеDO 6еE4 5олее 10%. 

�о7K <4<K 8 Dе5е=к4 6о 6Dе<O коD<ле=8O 7DудLN 

• колK5елLк4 

• пеDекDеEт=4O колK5елLк4 

• 87-под Dук8 

• ле64 =4 5оку 

• ле64 =4 Eп8=е 

• по74 =468E4=8е 

• 64лето< 

1. К4к толLко 6K пD8=Oл8 удо5=уN по7у, 6о7L<8те 7DудL т4к, 
Gто5K 5олLHо9 п4леF ле64л п4D4ллелL=о 6еDE=е9 7у5ке 
Dе5е=к4, 4 оEт4лL=Kе п4лLFK п4D4ллелL=о =86=е9 7у5ке. 
!лед8те, Gто5K п4лLFK =е 74кDK64л8 4Dеолу (те<=K9 кDу6ок 
6окDу7 EоEк4). 

2. �о6од8те EоEко< по =86=е9 7у5ке <4лKH4, <о6=о 6Kд468тL к4пелLку <олок4. 

3. �о6д8теEL пок4 <4лKH H8Dоко откDоет Dот 8 6EтDеG=K< д686е=8е< «=4E4д8те» Dе5е=к4 
=4 7DудL, FелOEL EоEко< 6 6еDE=NN G4EтL Dот8к4. 

4. !лед8те, Gто5K 7у5к8 5Kл8 6K6еD=утK 8 <4лKH 74E64тK64л 5олLHуN G4EтL 4DеолK. 
'к474телL=K< п4лLFе< подпD46Lте 7у5к8, еEл8 о=8 =едоEт4тоG=о 6K6еD=утK. 

5. �4< =е дол6=о 5KтL 5олL=о 8 6K =е дол6=K EлKH4тL =8к4к8E 76уко6 от Dе5е=к4 6о 6Dе<O 
EоE4=8O, кDо<е 7лот4=8O. 

6. �Eл8 6K поGу6Eт6о64л8 5олL 8л8 64< =у6=о EDоG=о пDекD4т8тL коD<ле=8е, по<еEт8те 
<878=еF 6 у7олок Dт4 Dе5е=к4 8 оE6о5од8те 7DудL. 



�D468лL=ое поло6е=8е Dе5е=к4 у 7Dуд8 

(D8Eу=ок 1 — 4) 

1.  е5е=ок 6Eе< коDпуEо< по6еD=ут к <4теD8 8 пD864т к =е9. 

2. �оло64 8 туло68Iе Dе5е=к4 =4EодOтEO =4 од=о9 пDO<о9 л8=88, 
6 од=о9 плоEкоEт8. 

3. Л8Fо Dе5е=к4 о5D4Iе=о к 7Dуд8 <4теD8, =оE =4пDот86 EоEк4. 

4. �4тL пD8деD6864ет Dе5е=к4 74 7оло6ку, плеG8к8 8 O7од8FK 
(поEлед=ее 646=о длO =о6оDо6де==о7о Dе5е=к4). 

�D468лL=K9 74E64т 7Dуд8 

(D8Eу=ок 5) 

1. �од5оDодок Dе5е=к4 к4E4етEO 7Dуд8 <4теD8. 

2.  от H8Dоко откDKт. 

3. �86=OO 7у5к4 6K6еD=ут4 =4Dу6у. 

4.  е5е=ок 74E64тK64ет 5олLHуN G4EтL околоEоEко6о7о кDу6к4 
(4Dеолу), =е пD8G<ок864ет. 

5. �4тL =е 8EпKтK64ет 5ол8 6 о5л4Eт8 EоEко6. 

�Dодол68телL=оEтL коD<ле=8O 7468E8т от кол8GеEт64 <олок4, EкоDоEт8 
е7о отделе=8O, 4 7л46=ое — от 4кт86=оEт8 Dе5е=к4. Ч4Iе 6Eе7о <4лKH 
=4Eод8тEO у 7Dуд8 <4теD8 20 <8=ут. К4к пD468ло, Dе5е=ок E4< 6KпуEк4ет 
7DудL, удо6лет6оDе==K9 8 Eо==K9. 

� пеD6Kе <еEOF — полтоD4 поEле Dодо6, ко7д4 Dе5е=ок пD8кл4дK64етEO 
E4от8G=о, 5е7 6KD46е==о7о Dе68<4, EоEет G4Eто 8 подол7у, <4<4 <о6ет 
EоDоHо Eе5O Gу6Eт6о64тL, толLко еEл8 7Dуд=ое 6Eк4D<л864=8е 
оD74=87о64=о пD468лL=о, <4<е удо5=о коD<8тL, о=4 у<еет Mто дел4тL 
EтоO, ле64, E8дO 8 д46е д6874OEL. 

�DоD8л4кт8к4 тDеI8= EоEко6 

1. �D468лL=ое поло6е=8е Dе5е=к4 у 7Dуд8. �D468лL=K9 74E64т 7Dуд8 Dе5е=ко< (E<. 6KHе). 

2. �елL7O <KтL 7DудL пеDед к46дK< коD<ле=8е<. �оEле коD<ле=8O Dеко<е=дуетEO 
6Kд468тL =еEколLко к4пелL <олок4, котоDое о5л4д4ет 54ктеD8F8д=K< де9Eт68е<, 
8 D4EтеDетL по ко6е, поEле Gе7о д4тL 6KEоE=утL =4 6о7дуEе. 

3. �D8 д8Eко<DоDте, покD4E=е=88 6 о5л4Eт8 EоEко6 (=е до68д4OEL тDеI8=) =ео5Eод8<о 
пD8<е=е=8е <47е9 «�еп4=те=», «�-п4=те=ол», кDе<о6 «�уDел4=», «Avent», E<47K64тL 
EоEк8 <4EлO=K< D4Eт6оDо< 68т4<8=4, �, о5леп8Eо6K< <4Eло< 8л8 <4Eло< H8по6=8к4 
8 дD. 

Л4ктоEт47 — Mто 74Eто9 <олок4 6 од=о9 8л8 =еEколLк8E долLк4E <олоG=о9 6еле7K. �DоO6лOетEO 
Mто EоEтоO=8е уплот=е=8е< тк4=8 6еле7K 8 5оле7=е==оEтLN — оEо5е==о пD8 п4лLп4F88. �4 ко6е 
Eоот6етEт6уNIе9 о5л4Eт8 7Dуд8 68д=4 EетL D4EH8Dе==KE 6е=. �4пDO6е=8е 8 5оле7=е==оEтL 
уG4Eтко6 6еле7K <о7ут EоED4=OтLEO 8 поEле ее опоDо6=е=8O. &е<пеD4туD4 тел4 пD8 Mто< о5KG=о 
5K64ет =оD<4лL=о9 8л8 до 38°!. О5Iее EоEтоO=8е =е EтD4д4ет. 



�DоD8л4кт8к4 л4ктоEт474: 

1. �е допуEк4тL Dе7ко7о =4D4Eт4=8O кол8GеEт64 <олок4 ED47у поEле Dодо6. �оMто<у 6 пеD6уN 
=еделN поEле Dодо6 Dеко<е=дуетEO о7D4=8G8тL пD8е< 68дкоEт8 (6клNG4O пеD6Kе 5лNд4 
8 DDуктK) до 800 — 1000 <л 6 де=L. 

2. �еDед пD8кл4дK64=8е< Dе5е=к4 к 7Dуд8 — ле7к89 <4EE46 <олоG=о9 6еле7K (кDу7о6K<8 

д686е=8O<8 от пеD8DеD88 к Fе=тDу 6еле7K). ОEо5ое 6=8<4=8е Eледует уделOтL 5олее 
плот=K< 8 5оле7=е==K< уG4Eтк4<. ОGе=L MDDект86=K< <о6ет ок474тLEO улLтD476уко6о9 
<4EE46 <олоG=KE 6еле7 (6 леGе5=о< уGDе6де=88). 

3. Ч4Eтое пD8кл4дK64=8е <4лKH4 к 7Dуд8: =ео5Eод8<о коD<8тL Dе5е=к4 по е7о пеD6о<у 
тDе5о64=8N 8 по76олOтL е<у =4Eод8тLEO у 7Dуд8 EтолLко, EколLко о= 74EоGет. �Eл8 74Eто9 
<олок4 7=4G8телL=K9, <4лKHу тDуд=о пD468лL=о 74E64т8тL EоEок. � Mто< EлуG4е Eледует 
EFед8тL =е5олLHуN поDF8N <олок4, Gто E=8<ет =4пDO6е=8е околоEоEко6о9 о5л4Eт8 
8 по76ол8т Dе5е=ку 5е7 тDуд4 74E64т8тL EоEок. 

4. �Eл8 Dе5е=ок 6Eе 6е =е EпD46лOетEO E пD85K64NI8< кол8GеEт6о< <олок4 8 поEле 
коD<ле=8O 6 7Dуд8 EоED4=ONтEO уплот=е==Kе 5оле7=е==Kе уG4Eтк8, =ео5Eод8<о EFед8тL 
<олоко, =о =е до поEлед=е9 к4пл8, 4 до доEт86е=8O Gу6Eт64 ко<DоDт4 6 6еле7е. 
!Fе6864тLEO <о6=о <олокоотEоEо<, Dук4<8. 

�4Eт8т — 6оEп4ле=8е од=о9 8л8 =еEколLк8E доле9 <олоG=о9 6еле7K, =4G8=4етEO E Dе7ко7о 
по6KHе=8O те<пеD4туDK, о5KG=о до 39о!, поO6лOетEO о7=о5. 'EудH4етEO о5Iее EоEтоO=8е. 
�е=I8=4 Gу6Eт6ует 5олL 6 <олоG=о9 6еле7е, ко64 =4д поD46е==K< уG4Eтко< 7Dу5еет, кD4E=еет. 

�Eл8 у 64E под=Oл4EL те<пеD4туD4, 4 <олоG=4O 6еле74 Eт4л4 5оле7=е==о9, покD4E=ел4 8л8 
«74т6еDдел4» — ED47у 6е о5D4I49теEL к 6D4Gу. �о6Dе<O =4G4тое леGе=8е пDедот6D4I4ет <=о78е 
=епD8Oт=оEт8, E6O74==Kе E <4Eт8то<. 

�DоD8л4кт8к4 <4Eт8т4: 

1. �DоD8л4кт8к4 л4ктоEт474. 

2. �DоD8л4кт8к4 тDеI8= EоEко6. 

3. �оEле коD<ле=8O Dеко<е=дуетEO 6Kд468тL =еEколLко к4пелL <олок4, котоDое о5л4д4ет 
54ктеD8F8д=K< де9Eт68е<, 8 E<474тL ко6у EоEк4 8 4DеолK, поEле Gе7о д4тL 6KEоE=утL 
=4 6о7дуEе. 

4. �е допуEк4тL пеDеоEл46де=8O, Eк6о7=Oко6. 

 


